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Question 1

Question Type: MultipleChoice

Refer to the exhibit. A developer must create a new network object named testnetwork by using the Cisco Firepower Device
Management API. The script must also handle any exceptions that occur during the request and print out any resulting errors. Which
script must be used?

age not d or type unknown

age not d or type unknown

Options:

A) Option A
B) Option B
C) Option C
D) Option D



Answer:

Question 2

Question Type: MultipleChoice

Refer to the exhibit. The presented application consists of a Nginx container and a load balancer service. Which GitLab CI/CD
configuration implements the Kubernetes deployment?

age not d or type unknown

Options:

A) Option A
B) Option B
C) Option C
D) Option D



Answer:

B

Explanation:

https://kubernetes.io/docs/reference/kubectl/kubectl/

Question 3

Question Type: MultipleChoice

Refer to the exhibits. An interface named "GigabitEthernet2" has been configured on a Cisco I0S XE device. Using RESTCONF APIs as
defined by the ietf-interfaces@2014-05-08.yang model, which two combinations of "rest_operation” and "payload" must be added to the
Python script to set the "description™ to "Configured by RESTCONF"? (Choose two.)
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age not d or type unknown



https://kubernetes.io/docs/reference/kubectl/kubectl/

Options:

A) Option A
B) Option B
C) Option C
D) Option D
E) Option E

Answer:

A B

Question 4

Question Type: MultipleChoice

Refer to the exhibit. Which command resolves the merge conflict by removing the previous commit from the commit history?

age not d or type unknown




Options:

A) Option A
B) Option B
C) Option C
D) Option D

Answer:

B

Question 5

Question Type: MultipleChoice

Refer to the exhibit. The JSON response is received from the Meraki location APIl. Which parameter is missing?

Options:

A) apMac



B) clientMac
C) clientld

D) accesspoint

Answer:

B

Question 6

Question Type: DragDrop

he \feraki'Resources tab in the left corner to view Meraki documentation to help with this question.Drag and drop the parts of
n code from the left onto the item numbers on the right that match the missing sections in the exhibit to enable an SSID. Not all
€ S are used.
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Question Type: DragDrop
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